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Instructions: To receive credit for all answers, show all work clearly in the space provided.
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2. Suppose that for all real numbers x between 0 and /2 , deos(x) =1 < f(x) < 1+sin(x).
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b s f(x) continous at x = t/6? Why or why not?
| 1 -2
PONNCATRTE S

2
. -\
. . Uy S X - Sl
fomttd! AT - TS S

W ARETATTS




MAT 161 Spring 2012, Test 1, Page 2 of 3

3. Using the precise (0,¢) definition of limits; prove that Iin31 (5x—4)=11
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4. Use the Intermediate Value Theorem to show that theré is a solution to the equation 9 = (x—2)* +7x in the
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. Let f(X)= 1+5x - Find the equation of the tangent line to the curve y =1(x) at (2, g[‘)
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6. Suppose a stone is thrown vertically upward with an initial velocity of 64 ft/s from abridge 80 feet above a
river. By Newton’s Laws of Motion, the position of the stone measured as the height above the river after t

seconds is s(t) = -16t” + 64t + 80 where s = 0 is the level of the river.
a. Finds'(t).

S =l (M) b ed £ 0
- 33K e

b. Find the average velocity of the stone from t = 1 to t = 2 segbnds.
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c. Find the instantaneous velocity when t = 1 second.
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d. Find the instantaneous velocity when the stone hits the river.
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